

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

07/31/2024 09:00 AM | Team To Drive up on Wednesday and install 08/01/2024 09:00 AM | Day 2 installation 08/02/2024 09:00 AM | Day 3 installation 08/03/2024 09:00 AM | Event Date 08/03/2024 09:00 AM | Stand By 08/04/2024 09:00 AM | Change Over 08/05/2024 09:00 AM | Strike

PO: Shipping Address: 3666 Campanil Drive Santa Barbara, CA

IN-0007110

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

\$0.00	Т	\$0.00	1	Wall Mirrors - Milan - Wall Mirror Painted in Black 37"W x 75"H - Custom Frame Color Upon Request
\$0.00	Т	\$0.00	1	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H
\$0.00	Т	\$0.00	2	Ottomans - Hollywood - Black W/ Brass Base
\$0.00	ure	tal Vanity Furnit	То	
\$930.15	Т	\$310.05	3	Barback - Tokyo - Straight Basic 6' X 8'h - Metal Painted in akade white 6'W x 18"D x 8'H
\$649.35	Т	\$216.45	3	Barback - Moscow - Gold W/ Glass Shelves & Base 43"W x 18"L x 95"H - Custom Base Color Upon Request
\$1,579.50	ons	Total Additi		
\$280.80	Т	\$140.40	2	Benches - Montecito - Curved 8' Distress Look with Ivory Cushion 8'W x 18"L x 19"H
\$421.20	Т	\$140.40	3	Benches - Montecito - Straight 8' Distress Look with Ivory Cushions 18"W x 8'L x 19"H
\$1,023.75	Т	\$40.95	25	Garden Dining Chairs - Foldable Metal 16" Diam x 37.5"H
\$0.00	Т	\$0.00	25	Seat Cushions for Foldable Dining Chair Off White Linen Cushion
	T T ons T T	\$310.05 \$216.45 Total Addition \$140.40 \$140.40 \$40.95	3 3 2 3 25	Painted in akade white 6'W x 18"D x 8'H Barback - Moscow - Gold W/ Glass Shelves & Base 43"W x 18"L x 95"H - Custom Base Color Upon Request Benches - Montecito - Curved 8' Distress Look with Ivory Cushion 8'W x 18"L x 19"H Benches - Montecito - Straight 8' Distress Look with Ivory Cushions 18"W x 8'L x 19"H Garden Dining Chairs - Foldable Metal 16" Diam x 37.5"H Seat Cushions for Foldable Dining Chair

Description		Qtty	Price		Total
R	Dining Chairs - Versailles - Cane Back 20"W x 24"L x 39"H	85	\$23.40	Т	\$1,989.00
	Mix and Match Pillows Off White and Ivory	20	\$29.25	Т	\$585.00
	Sofas - Montecito Distress look with Ivory Cushions 97"W x 26"L x 40"H - Seat Height 19" - Custom Frame Color & Cushion Upon Request	2	\$351.00	Т	\$702.00
	Sofas - Versailles - Tufted Back 8' 8'W x 29"L x 42"h	4	\$409.50	Т	\$1,638.00
			Total Cerem	ony	\$6,639.75
Cocktail					
	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	16	\$29.25	Т	\$468.00
	Bars - New York - Folding 8' Painted in High Gloss Arcade white with Decal on front and 2 sides 8'W x 30"L x 42"H - Color Change Upon Request	1	\$1,287.00	Т	\$1,287.00
	Bars - New York - Straight Folding 12' Painted in High Gloss Arcade White with decal in front and sides 12'W x 31"L x 42"H - Custom Color Upon Request	1	\$1,638.00	Т	\$1,638.00
6	Sofas - Chicago - White Boucle 98"W x 45"D x 30"H	3	\$585.00	т	\$1,755.00
9	Club & Lounge Chairs - Chicago - White Boucle 36"W x 33"D x 27"H	8	\$269.10	Т	\$2,152.80
	Coffee Tables - Round - Multicolor Arcade White High Gloss 48"round x19"h	3	\$292.50	Т	\$877.50
	Ottomans - Standard Pod In white 18"RND x 17"H - Cover Color Upon Request	9	\$35.10	Т	\$315.90
9	Club & Lounge Chairs - Aspen - Swivel White Boucle Some To go around Fire pit Some to be around the upper Lounge Area 26"W x 30"D x 30"H	6	\$234.00	Т	\$1,404.00
	Accent Tables - Rome - Round 01 - Off White 12 1/4"D x 22"H	2	\$175.50	Т	\$351.00

		Qtty	Price		Total
	Accent Tables - Rome - Round 02 - Off White 15"D x 20"H	2	\$187.20	Т	\$374.40
- PM	Garden Props - Tilting Umbrella 9' - Brown Wood 9"Diam Round x 8.19'H - Cover Color Upon Request	10	\$117.00	Т	\$1,170.00
	Garden Props - Umbrella Stand - Multicolor Painted in White 21.7"Dia. x 13.5"H, 44 lbs.	10	\$0.00	Т	\$0.00
	Mix and match Pillows Off White and Whites	12	\$29.25	Т	\$351.00
			Total Cock	tail	\$12,144.60
eception Furnit	ure				
	New Bar carts for Champagne Passing	4	\$292.50	Т	\$1,170.00
	Mix and Match Pillows	12	\$29.25	Т	\$351.00
	Dining Table - Las Vegas - Colored Top 8'x48" High Gloss white for head table 8'w x 48"D x 30'H - Custom Top & Base Color Upon Request	6	\$409.50	Т	\$2,457.00
Ξ	Bars - Beverly Hills - Wood 8' Painted in High Gloss Black and black Top with Down Lights 8'W x 40"Lx 45"H - Color Change Upon Request	2	\$1,158.30	Т	\$2,316.60
	Barbacks - 4 Piece Shelves - White Birch Painted in black 6'W x 17"D x 90"H - Can be custom painted upon request	2	\$286.65	Т	\$573.30
R	Dining Chairs - Washington - Gold/blush 19"W x 23"L x 37"H	130	\$22.23	Т	\$2,889.90
8	Club & Lounge Chairs - Chicago - Black Velvet 36"W x 33"D x 27"H	8	\$269.10	Т	\$2,152.80
	Sofas - Chicago - Black Velvet 98"W x 45"D x 30"H	4	\$585.00	Т	\$2,340.00
	Coffee Tables - Gold Loop 40â [®] Ø Diam 19â [®] M	4	\$292.50	Т	\$1,170.00
	Ottomans - Hollywood - Black W/ Brass Base 16"Diam x 18"H	12	\$46.80	Т	\$561.60

Description		Qtty	Price		Total
Reception Cha	ndeliers				
	Chandeliers - Versailles - 2 Tears Basket Small Black Ruching 44"W x 47"H - 70 Lb - 1,025 watts	5	\$936.00	Т	\$4,680.00
	Chandeliers - Versailles- 3 Tear Basket Small Black Ruching 44"W x 53"H - Weight 80 Lb - 950 watts	4	\$936.00	Т	\$3,744.00
	Chandeliers - Versailles - 3 Tears Basket Medium Black Ruching 53"W x 63"H - Weight 106 Lb - 1,175 Watts	5	\$1,521.00	Т	\$7,605.00
	Chandeliers - Versailles - 2 Tears Basket Medium Black Ruching 53"W x 57"H - 100 lb - 1,2275 watts	4	\$1,521.00	Т	\$6,084.00
		Total Re	ception Chandeli	ers	\$22,113.00
Reception Out	side Covering				
	Panels - Hedge Panel 4'x10' to cover Musician tent 4'X10'H	30	\$187.20	Т	\$5,616.00
	Panels - Hedge Panel 4'x8' Extras 4' X 8'H	6	\$157.95	Т	\$947.70
		Total Receptio	n Out side Cover	ing	\$6,563.70
Reception Fab	ic Treametnets				
	Custom Made Truss Cover in black Scuba 980' 18-12"x12'x12'H 8-12"x12"x22' 4-12"x12"x12'H 16-12"x12"x26'H 4-12"x12"x9'h 1- 12"x12"x16'H	1	\$17,199.00	Т	\$17,199.00
	Custom Made truss For legs Black Scuba 28 -12"x12"x18' with Velcro	1	\$6,084.00	Т	\$6,084.00
	Custom Ceiling Treatment in White Sheer with No backing Creating Willows in Each Bays- 16- 4' W x 65' long	1	\$6,107.40	Т	\$6,107.40
	Smaller Pullbacks To Dress Legs Only on Outer Legs 10'x 19'H	12	\$292.50	Т	\$3,510.00
	Fabric Treatment to Cover 3 Sides of Structure Aprox 200'x 18'H With Over lapping Pullbacks and swags Covering Scullery and other areas	1	\$8,775.00	Т	\$8,775.00
	Fabric To Cover Back of Hedge Panels Flat Scuba Fabric Creating Flats Walls in White	1	\$1,404.00	Т	\$1,404.00

Description		Qtty	Price		Total
	Custom Made Fabric- Flat Fabric 2- 50x 13'H	1	\$1,755.00	Т	\$1,755.00
	Vanity TBD Furniture	1	\$936.00	Т	\$936.00
	-	Total Recepti	on Fabric Treametr	nets	\$45,770.40
Inside House					
	Fabric Treatment to Cover House Etrance To main dining Room 30' x10' H Ivory Chiffon	1	\$819.00	Т	\$819.00
	Fabric Treatment to Cover Entrance to Lower Part of house and windows to kitchen 10' x10' Ivory Chiffon	the 4	\$234.00	Т	\$936.00
	Fabric Treatment to Cover entrance to After Party Ivory Chiffon 2-10'x 17'H	1	\$585.00	Т	\$585.00
			Total Inside Ho	use	\$2,340.00
After Party Fab	ric				
	Brown Velvet to Create a Pullback entrance	1	\$994.50	Т	\$994.50
	Fabric Treatment to Cover Entrance Hallway 80 x 15'H Chocolate Brown Velvet	1	\$2,667.60	Т	\$2,667.60
	Fabric Treatment to Cover Walls on Existing Bar 80 x 15'H in Chocolate Brown Velvet	1	\$2,667.60	Т	\$2,667.60
	Fabric Treatment to Cover Main Dancing Area 300'x 15'H in Chocolate brown Velvet	1	\$14,040.00	Т	\$14,040.00
		-	Total After Party Fa	bric	\$20,369.70
After Party Fur	niture				
	Table Lamps - Recycled Glass & Metal 4-1/2" Diam x 6 1/2"H - LED Operated	6	\$23.40	Т	\$140.40
	Banquettes - Ivory Velvet - 8' 8'w x 39"D x 30"H	2	\$468.00	Т	\$936.00
	Club & Lounge Chairs - Budapest - Vanity Chair Burgundy Velvet & Fringe 26"W x 25"L x 28"H	4	\$210.60	Т	\$842.40
	Ottomans - Standard Pod 4- Orange matching Sofa 6- burgundy Matching sofa 18"RND x 17"H - Cover Color Upon Request	10	\$35.10	Т	\$351.00
	Area Rugs - Cotton Chenille Distressed Print Rug W/ Fringe 5' x 7'	2	\$204.75	Т	\$409.50

	Qtty	Price		Total
Area Rugs - Cotton Chenille Distressed Print Rug W/ Fringe , Multicolor 5' x 7'	2	\$204.75	Т	\$409.50
Area Rugs - Multi Color Distressed Print Rug W/ Fringe 4' x 6'	2	\$204.75	Т	\$409.50
Area Rugs - Distressed Chenille Print Rug W/ Fringe 4' x 6'	2	\$204.75	Т	\$409.50
Mix and Match Pillows	12	\$29.25	Т	\$351.00
Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	4	\$234.00	Т	\$936.00
Club & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe 25"W x 26"L x 28"H	4	\$210.60	Т	\$842.40
Club & Lounge Chairs - Lisbon - Side Chair Orange Velvet 30⤠¤ ₩27⤠¤ ±33⤠¤ h	2	\$234.00	Т	\$468.00
Sofas - Lisbon - Orange Velvet 8'W x 33â® ® ±36â® ® HWith Two Matching Pillows	1	\$468.00	Т	\$468.00
Club & Lounge Chairs - Lisbon - Club Chair Orange Velvet 4â¤ Ø ₩33⤠¤ ±36⤠¤ HWith One Matching Pillow	2	\$304.20	Т	\$608.40
Club & Lounge Chairs - Lisbon - Club Chair Blue Velvet 4â¤ Ø ₩33â¤ Ø ±36â¤ Ø HWith One Matching Pillow	2	\$304.20	Т	\$608.40
Club & Lounge Chairs - Lisbon - Side Chair Blue Velvet 30⤠¤ w27⤠¤ ±33⤠¤ h	2	\$234.00	Т	\$468.00
Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	3	\$292.50	Т	\$877.50
Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	4	\$140.40	Т	\$561.60
Console Tables - Bucharest - Brass & Mirror 39"W x 13.5"L x 30"H	4	\$198.90	Т	\$795.60
	Fringe , Multicolor5' x 7'Area Rugs - Multi Color Distressed Print Rug W/ Fringe 4' x 6'Area Rugs - Distressed Chenille Print Rug W/ Fringe 4' x 6'Mix and Match PillowsClub & Lounge Chairs - London - Cranleigh Club Chair 31'W x 31'L x 34'HClub & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe 25'W x 26'L x 28'HClub & Lounge Chairs - Lisbon - Side Chair Orange Velvet 30all & W27all R x 33all & hSofas - Lisbon - Orange Velvet 8'W x 33all @ x 36all @ HWith Two Matching PillowsClub & Lounge Chairs - Lisbon - Club Chair Orange Velvet 4all @ W33all @ x 36all @ HWith One Matching PillowClub & Lounge Chairs - Lisbon - Club Chair Blue Velvet 4all @ W33all @ x 36all @ HWith One Matching PillowClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 4all @ W33all @ x 36all @ HWith One Matching PillowClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 4all @ W33all @ x 36all @ HWith One Matching PillowClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 30all @ w27all R x 33all @ hCoffee Tables - Bucharest - Brass & Mirror 19.25'W x 16.5'D x 24.75'HAccent Tables - Bucharest - Brass & Mirror 19.25'W x 16.5'D x 24.75'HConsole Tables - Bucharest - Brass & Mirror	Fringe , Multicolor5' × 7'Area Rugs - Multi Color Distressed Print Rug W/ Fringe 4' × 6'2Area Rugs - Distressed Chenille Print Rug W/ Fringe 4' × 6'2Mix and Match Pillows12Club & Lounge Chairs - London - Cranleigh Club Chair 31"W × 31"L × 34"H4Club & Lounge Chairs - Budapest - Vanity Chair Green 	Fringe , Multicolor 5 x 7X 8Area Rugs - Multi Color Distressed Print Rug W/ Fringe 4 x 62\$204.75Area Rugs - Distressed Chenille Print Rug W/ Fringe 4 x 62\$204.75Mix and Match Pillows12\$29.25Club & Lounge Chairs - London - Cranleigh Club Chair 31 W x 31 L x 34 H4\$234.00Club & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe 25 W x 26 L x 28 H4\$210.60Club & Lounge Chairs - Lisbon - Side Chair Orange Velvet 4 R W 3348 # £ 3648 # HWith Two Matching Pillows2\$234.00Sofas - Lisbon - Orange Velvet velvet 44 R E W 3348 # £ 3648 # HWith Two Matching Pillows1\$468.00Club & Lounge Chairs - Lisbon - Club Chair Orange Velvet 448 # W 3348 # £ 3648 # HWith One Matching Pillow2\$304.20Club & Lounge Chairs - Lisbon - Club Chair Blue Velvet 448 # W 3348 # £ 3648 # HWith One Matching Pillow2\$234.00Club & Lounge Chairs - Lisbon - Side Chair Blue Velvet 448 # W 3348 # £ 3648 # HWith One Matching Pillow2\$234.00Club & Lounge Chairs - Lisbon - Side Chair Blue Velvet 448 # W 3348 # £ 3648 # HWith One Matching Pillow2\$234.00Club & Lounge Chairs - Lisbon - Side Chair Blue Velvet 448 # W 3348 # £ 3648 # HWith One Matching Pillow3\$292.50Accent Tables - Bucharest - Brass & Mirror 44.5*W x 24.75*D x 20.5*H4\$140.40Accent Tables - Bucharest - Brass & Mirror 49.5*W x 16.5*D x 24.75*H4\$198.90	Fringe, Multicolor 5×7XArea Rugs - Multi Color Distressed Print Rug W/ Fringe 4×62\$204.75TArea Rugs - Distressed Chenille Print Rug W/ Fringe 4×62\$204.75TMix and Match Pillows12\$29.25TClub & Lounge Chairs - London - Cranleigh Club Chair 31'W ×31'L ×34'H4\$210.60TClub & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe 25'W ×26'L × 26'H4\$210.60TClub & Lounge Chairs - Lisbon - Side Chair Orange Velvet 30&N @ W27&N ® ± 33&N B2\$234.00TSofas - Lisbon - Orange Velvet 8W × 33&N ® ± 16&N = N1\$468.00TSofas - Lisbon - Orange Velvet 8W × 33&N ® ± 36&N = HWith Two Matching Pillows2\$304.20TClub & Lounge Chairs - Lisbon - Club Chair Orange Velvet 4&N © Sofas = Lisbon - Club Chair Orange Velvet 4&N © Sofas = Lisbon - Club Chair Orange Velvet2\$304.20TClub & Lounge Chairs - Lisbon - Club Chair Orange Velvet 4&N © Sofas = Lisbon - Club Chair Blue Velvet 22\$304.20TClub & Lounge Chairs - Lisbon - Club Chair Blue Velvet 20AN 0 = N © Sofas = Mitth One Matching Pillow2\$304.20TClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 20AN 0 = N © Sofas = Mitth One Matching Pillow3\$292.50TClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 20AN 0 = N © Sofas = M3\$292.50TClub & Lounge Chairs - Lisbon - Side Chair Blue Velvet 20AN 0 = N © Sofas = M3\$292.50TCoffee Tables - Buchares

escription		Qtty	Price		Total
T	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	5	\$175.50	Т	\$877.50
	Table Lamps - Metal & Mango Wood W/ Antique Finish 4"Diam x 11 1/2"H - LED operated	6	\$35.10	Т	\$210.60
	Club & Lounge Chairs - Lisbon - Club Chair Yellow Velvet 4â® ® ₩33â® ® ±36â® ® HWith One Matching Pillow	2	\$304.20	Т	\$608.40
T	Stand Up Tables - Manchester - Dark Wood 36â® ®rnd x 42â® 阳	3	\$321.75	Т	\$965.25
	Barstools - Oslo - Leather 15⤠¤ â¤Dīłam X 17⤠¤ ⤠¤ H	6	\$17.55	Т	\$105.30
		Total A	fter Party Furnit	ure	\$13,659.75
rvices					
	Rush Fee _ Over time during the weekend to get production ON time	1	\$4,500.00		\$4,500.00
	Team To Drive and Install	8	\$650.00		\$5,200.00
	Team Installation day 2	12	\$550.00		\$6,600.00
	Team intallation day 3	12	\$550.00		\$6,600.00
	Team Installation day 4th and Event Day	10	\$500.00		\$5,000.00
	Stand by and Change over for After Party	2	\$450.00		\$900.00
	Change Over For Sunday and Small Strike	10	\$450.00		\$4,500.00
	Monday strike _ after Party - reception and Pool area	16	\$650.00		\$10,400.00
	Transportation	6	\$900.00	Т	\$5,400.00
	Manager on site - pre production Final Price till Booking	1	\$7,500.00		\$7,500.00
	Hotel Room From Wednesday to Monday Crew	4	\$1,800.00		\$7,200.00
	Hotel Room from Wednesday to Sunday For Mananger on site	1	\$3,260.00		\$3,260.00
	Hotel Crew From Thursday to Monday	2	\$1,500.00		\$3,000.00
	Per diem from Thursday to Monday	4	\$388.50		\$1,554.00
	Perdlem from Wednesday to Monday	9	\$444.00		\$3,996.00

Please make checks payable to Revelry, Inc.

Wear & Tear (4.00%):	\$5,886.50
Packing (2.00%):	\$2,943.25
Taxes (tax excempt):	\$0.00
Discounts:	(\$0.00)
Total:	\$231,602.36
Payments:	(\$0.00)
Balance:	\$231,602.36